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int main()
{ int year;
cmm<<“%ﬁ»€£ﬁ:";
cin >> year;
it ( )

cout << year << “{ F &7 << endl;

else
cout << year << “f T #&” << endl;
¥
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cout << factor(5);
int factor(int n)
{ 1f (n==1) return 5;
else return (n * factor(n-1));

+
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cout << g(7);
int g(int num)
{ 1Tt (hum <=3) return 1;
else return (3*g(num-2)+2*g(num-1));

}
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int pass=0, fail=0;
int score;



while(1)
{ cin >> score;

1T (score >=60) pass++;

else fail++;
by
PR FE &1%@%» 60,92,59,27,85,43,70,55,33
ML PF > pass = » Fail =
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int a=1,b=2,c=3,d=4;
a=b+d%c;

b = c++;
c+=d+c*a-b;
d = ++b;

cout << 7a=" << a << b= << b << 7c="7 << Cc << ’d="" << d;
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#include <iostream>
#include <cstdlib>
using namespace std;
int &nin(int &, Int &);
int &max(int &, Int &);

int main()

{
int a=5, b=3;
min(a,b) = 0;
max(a,b) = 100;
cout << ““a = 7”7 << a << endl;
cout << “b = 7 << b << endl;
system(“PAUSE™) ;
return O;

¥

int &mnin(int &x, iInt &y)

{
iIT ( X<y ) return Xx;
else return y;

¥

int &max(int &x, int &y)

{

iIT ( x>y ) return Xx;
else return y;
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1 GY%) e (%) 8 (5%) 256

2 (B%) 45.75

3 | (5% 100111111

4 | (5%) 5FB

5 |[(5%) 1011110111

6 (B%) x>=y && y>=z

7 (10%) ( year%400==0 ) || ( year%4==0 && year%100!=0 )

8 (10%) 600

9 (10%) 121

10 | (5%) 4 B%) 5

11 | (10%) a=3 b=4 c=17 d=4

12 | (10%) a=100 b=0




